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HISTORY
[Honours]

PAPER - VI
Full Marks : 90

Time : 4 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

GROUP —-A -

Answer any fwo questions : - 15x2

1. What was the role of Philosophers in the French
Revolution of 1789 ? '

2. To what extent were the principles of French
Revolution reflected in the domestic reforms
of Napoleon ?
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What were the causes of the July Revolution
in Europe ?

How did the process of Industrialization of 19th
Century Europe differ from that of England ?

Why was Europe divided two rival armed
camps towards the end of the 19th Century ?

Why did The Balsheviks succeed in 1917 ?

GROUP - B
Answer any five questions : 8x5

- What was the Thermidorian regime ? How far

could the Directory successfully superceded it ?

What were the objectives of the League of

‘Nations ? Why did it fail ?

Discuss the causes of the fallure of the Second
Empire of France. |

Did the Treaty of Berlin (1878) satisfy nationalist -
aspirations ? '
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Critically discuss the 'Policy of Appeasement'.

What was the impact of Locarno Treaty on
contemporary European politics ?

Why was there a competition among the
European nations to occupy colonies in the
19th century ?

Do you think that the Treaty of Versailles
failed to establish peace ?

What were the causes of the rise to power of
the Nazis in Germany ?

Discuss the importance of the Russo-German
Non-Aggression pact of 1939.

GROUP -C

Answer any five questions : 4x5

What do you mean by Enlightenment ?
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What was the '"Tennis Court Qath' ?

What principles did the 'Declaration of the
Rights of Man and Citizen' seek to establish ?

What was the 'Metternich System' ?
Write a note on the Polish Revolt of 1863.

Why are Robert Owen's (1771-1858) activities
regarded remarkable ?

What was the Zolverin ?

What was the immediate cause of The First
World War ?

What was the New Economic Policy (NEP) of
Lenin ?

How did Hitler address the Czechoslovakian
Problem ?
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